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o

Who participated from Rajasthan, in the 10th
Governing Council Meeting, of the NITI Aayog ?

(A) Finance Minister

(B)  Chief Minister
(C©)  Education Minister
(D) Governor

(E)

Where was the 18th Pravasi Bhartiya Divas
Convention held, during January 8 to 10, 2025 ?

(A)

Question not attempted

Bengaluru, Karnataka

(B) Bhubaneshwar, Odisha
(©) Ahmedabad, Gujarat
(D) New Delhi

(E)

Which of the following is the second-largest
artificial lake in Asia ?

Question not attempted

>

) Didwana Lake

(

(B) Jaisamand Lake

(C) Sambhar Lake

(D) Kolayat Lake

(E)  Question not attempted

In which of the following villages of Rajasthan is
the main Tripura Sundari Temple located ?

(A) Ranakpur
(B)  Deshnok
(©) Mandawa
(D) Umrai

(

E)  Question not attempted

Among the following, the most eco-friendly
method for disposal of dry leaves is :

Choose the most appropriate answer from the
options provided below :

(A) Composting

(B) Burning

(C) Stuffing into plastic bags and throwing in
the garbage bin

(D) Dumping in river

Question not attempted
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10.

On simple interest a certain sum becomes ¥ 50,806
in 3 years and % 59,210 in 5 years at the same rate
of interest. The sum is :

(A) 38,200
(B) 38,360
(©) 39400
(D) X 38,100
(E)  Question not attempted

Which fair in Rajasthan is also called the ‘Kumbh
of the Tribals” ?

(A) Bhartrihari Fair

(B)  Baneshwar Fair

(C©) Diggi Kalyanji Fair

(D)  Sheetla Mata Fair

(E)  Question not attempted

Which Rajput ruler revolted against Mughal
Emperor Aurangzeb ?

Choose the most appropriate answer from the
options provided below :

>

(A) Rana Pratap

(B)  Rana Raj Singh
(©) Raja Man Singh
(

(

)

) Rana Sanga

E)  Question not attempted

Which one of the following musical instruments
can be classified as a “Tat Vadya’ ?

(A) Tasha

(B) Ravanhatha

(©)  Turhi

(D) Kanjira

(E)  Question not attempted

According to the Rajasthan State Budget 2025, a
Gharial Rearing Centre, will be established at
in Rajasthan.

(A) Kumbhalgarh
(B) Kota
(©) Karauli
(D)  Sawai Madhopur

(E)  Question not attempted

P.T.O.
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12.

13.

14.

15.
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12.

13.

14.

The Aravalli Range runs through which of the
following States /Union Territory of India ?
Choose the most appropriate answer from the
options provided below :

(A) Rajasthan, Uttar Pradesh and Madhya Pradesh

(B)  Rajasthan, Delhi and Gujarat

(©) Rajasthan, Madhya Pradesh and Gujarat
(D)  Rajasthan, Delhi and Madhya Pradesh
(E)  Question not attempted

Who was the founder of the “Niranjani sect” in
Rajasthan ?

(A) Saint Haridas

(B) Mehaji Manglia

(C©)  Mallinathji

(D)  Pabuji

(E)  Question not attempted

Rajasthan ~ constitutes  approximately = what

percentage of the total area of India ?

>

) 7.8 percent

=

(

( 10.4 percent
(C©) 14.1 percent
(

(

)

) 5.3 percent
E)  Question not attempted

Under the RTI Act (2005), there is an exemption
from the obligation of disclosure of information
relating to which one of the following matters ?
Choose the most appropriate answer :

(A) Information that may jeopardize the
Integrity and Sovereignty of India

(B) Powers and duties of officers deputed
within public offices

(C) Categories of documents
Government office

held by a

(D) Monthly remuneration received by office
staff of a private corporation

(E)  Question not attempted

The total length of the international border
between Rajasthan and Pakistan is approximately :

(A) 1070 km

(B) 970 km

(© 1270 km

(D) 1170 km

(E)  Question not attempted
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16.

17.

20.

Which of the following is not considered as a sign
of soil degradation ?

Choose the most appropriate answer from the
options provided below :

>

(A) High soil salinity

—~~

B) Increased soil erosion

—~~

C) High chemical toxicity

o

(

(E)  Question not attempted

) High humus content

What was the urban sex ratio of Rajasthan as per
the Census 2011 ?

>

(A) 928 female/1000 male
(B) 933 female/1000 male
(C) 943 female/1000 male
(
(

)

) 914 female/1000 male
E)  Question not attempted

Which of the following is a tributary of the
Gambhir River ?

(A) Kalisindh

(B) Sesa

(©)  Sukri

(D) Morel

(E)  Question not attempted

Which of the following tourist spots has been
selected under the “Panch Gaurav” initiative to
represent the Jaipur district ?

>

) Amber Fort

B) Jantar Mantar
C) Nahargarh Fort
) Hawa Mahal

o~ o~ o~ o~

o

(E)  Question not attempted

A bought an item for ¥ 800 and sold it with 10%
profit to B. B sold it with 15% profit to C. How
much C paid for the item ?

(A) 976

(B) 1,000

(© R1,012

(D) 920

(E)  Question not attempted
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41. Choose the sentence with the correct usage of
Punctuation from the options given below :
(A) Narayan Singh; my coach will teach me
new football techniques.
(B) Narayan Singh - my new coach will teach
me new football techniques.
(C) Narayan Singh my new coach, will teach
me, new football techniques.
(D) Narayan Singh, my coach, will teach me
new football techniques.
(E)  Question not attempted
42. Choose the most appropriate option to translate
the given sentence from English to Hindi :
Three armed men barged into the manager’s
cabin.
(A) 9 RS EHT Ao & BT H
M|
(B) 9 EREET MSHT Ao & HEHT |
T I I |
(C) 9 eRmRee EHET Ao & HEHT |
STEREwI gH |
(D) AR A @ gRames et ®t s
BT H FTREe fera|
(E)  Question not attempted
43, Choose the most appropriate option to convert
the given sentence from Direct Speech to Indirect
Speech :
He asked, “What were you reading yesterday
night ?”
(A) He asked what I had been reading the
previous night.
(B) He asked what I have been reading the
previous night.
(©) He asked the previous night what I was
reading.
(D)  He asked what was I reading the previous
night.
(E)  Question not attempted
* DS22

44.

45.

46.

47.

Which of the following is the correct
transformation of the given Interrogative
sentence into an Assertive sentence ?

Isn’t virtue its own reward ?

(A)  Virtue is its own reward.

(B)  Virtue may be its own reward.
(C©)  Virtue is rewarding!

(D)  Virtue is not its own reward.

(E)  Question not attempted

For the given sentence, choose the most
appropriate answer from the options provided :
Air-pollution is
these days.

A)  the
B

serious problem in Delhi

) an

D) a

(

(

© some
(

(E

~

Question not attempted

Fill in the blank in the sentence given below by
choosing the most appropriate answer from the
options provided :

adults know how to conduct themselves
in public places.

(A) Much

(B) Many

(©)  The few

(D) Many an

(E)  Question not attempted

Which of the following is the correct
transformation of the given Assertive sentence
into a Negative sentence ?

I am happy with what I am earning now.

(A) Iam happy, I am not earning now.

(B) Iamnot happy that I am not earning now.
(©)  Iwill be happy if I earn more than now.

(D) I am not happy with what I am earning
now.

(E)  Question not attempted



48. Fill in the blank by choosing the correct option :
I saw Rohit a concert last Saturday.
(A) on
(B) off
(©) at
(D)  since
(E)  Question not attempted
49. Identify the grammatically most appropriate
sentence from the options given below :
(A) Ihave seen never such a beautiful sunset.
(B)  Ihave never seen such a beautiful sunset.
(C)  Iseennever such a beautiful sunset.
(D) Inever have seen such beautiful sunset.
(E)  Question not attempted
50. Choose the correct Passive form of the given
sentence from the options provided :
The lawyer gave Arun the details of his uncle’s
will.
(A)  The lawyer is giving Arun the details of
his uncle’s will.
(B)  Arun was got the details of his uncle’s will
from the lawyer.
(©)  Arun was given the details of his uncle’s
will by the lawyer.
(D)  The lawyer will give Arun the details of
his uncle’s will.
(E)  Question not attempted
51. For the given Assertive sentence, choose the
correct Exclamatory sentence from the options
provided :
It looks very odd.
(A) How odd it looks!
(B)  Itreallyis odd.
(©) Odditis!
(D)  Looks very odd, right ?
(E)  Question not attempted
* DS22

52.

53.

54.

55.

Fill in the blank by choosing the most
appropriate answer from the options given
below :

He hinted that he some pocket money.
(A) want
(B) wanted

(G  wanting
(D)  had want
(E)  Question not attempted

Choose the most appropriate English translation
of the given sentence from the options provided :

“T Fra | T T2 STes-H-5768 3N AT Aney 1”7
(A)  Ithink so you come quickly to here.

(B) I think that you should come here as soon
as possible.

(C) I think that you must arrive to this place
quick.

(D)  Inmy thinking, you come fast here.
(E)  Question not attempted

Choose the most appropriate Hindi word for the
word ‘MEMO'.

(A)  ref-wTr A

(B) Yy Uw

© FHu=

(D) ol

(E) Question not attempted

Fill in the blanks in the given sentence by
choosing the most appropriate words from the
options provided :

You may play with my pet
boy, do not cause any harm to it.

(A) dare, deer
(B)  dire, dear
(©)  deer, dear
(D)  dear, deer

but my

(E)  Question not attempted

P.T.O.



56.

57.

58.

HERTOT 9T garg 31T, frieriad § 9 {5 @
o R ?
(A) Ta®
(B) TuIAT
© IR
(D) T=R
(B)  Irgand e
Trferfad # get-1 # fou o wWifass or &1 -2
H & g 37 o1t ¥ M Y S 3 0T B S
?—fﬂ?ﬁ% :
-1 -2
(witferes 7T (erT)
(@) | FAL FH qOAE IR |() | FIETH (Na)
e
(b) | =g (i) | IRT(Hg)
BT STHBATE
(0 | =TSP (i) | FHT(Pb)
SlcEa
(d) | FSTEFAEE  |(iv) | TIE(Ag)
e fahedt # ¥ W& 3R =4 ;
(A)  (a)-(i), (b)-(1), (c)(ii), (d)-(iv)
(B)  (@-@), (b)-(iii), (c)-(i), (d)-(iv)
©)  (a)-(ii), (b)-(i), (c)-(i), (d)-(iv)
(D) (@)-(i), (b)-(), (c)~(iv), (d)-(iii)
(B)  3TaRd e
ST 3T Gmail T TH SHA for@d &, ar freiaiad
H ¥ -7 [Ihed T&T U T&l BT ?
(A)  IRTHEA
(B) gHISIISIE
© st
(D)  CR< BIATCI T faIehed
(B)  3aRd e

% DS22 10

57.

In which of the following places, is the Maharana
Pratap Airport located ?

(A) Dabok

(B) Khandela

(©)  Jaipur

(D) Pushkar

(E)  Question not attempted

Match the physical properties given in List-1 to the
metals that exhibit those properties given in List-2 :

List-1 List-2
(Physical Properties) (Metals)

(@) | Liquid at room |(i) Sodium (Na)
temperature

(b) | Can be easily cut |(ii) | Mercury (Hg)
with a knife

(c) | Excellent (iii) | Lead (Pb)
conductor of heat

(d) | Poor conductor of |(iv) | Silver (Ag)
heat

Choose the correct answer from the options given
below :

(A) (@), (b)-(1), (0)-(iii), (d)-(iv)
(B)  (@)-(0), (b)-(iii), (c)-(ii), (d)-(iv)
(©)  (a)-(iii), (b)-(3), (c)-(ii), (d)-(iv)
(D) (@)-(i), (b)-(0), (¢)-(iv), (d)-(iii)
(E)  Question not attempted

While composing an email on Gmail, which of the
following options is not present ?

(A) Attachfile

(B) Insert emoji

(C) Resend

(D)  Text formatting options
(E)  Question not attempted



59.  Ig AT &RT & IHe (IVATE) FS G 1 °S A
AN Y, SaRE ey ¥ 1% e T B | A7 e
FI T 7 km/h B, T A ST & A1 BT km/h &
FATE ?
1
() 287
(B) 24
(C) 35
D) 21
(B)  3raRd e
60. T 2025 b 3 H, TOTEATH AILHN 3 WA TLHN
(TETHIT) M (BT T g 2
(A) I IS
(B) 3L e
(C) 3T Sfies
(D) 3T 18T
(B) 3raRd e
61.  TATHTAT TSI STHIARTY TCRAT F A RId
HFAtra g ARae?
(A) BT AT AN
(B) 37T 3R HYAR
(C) w IR
(D)  wATTg 3R Feiteg
(B)  3aRd wed
62. THTaREd | ¥ fpw Tt st 7, |ig At &
I B, T 3 AT T W
BT fEeTTg ?
(A)  TatTE
(B)  Hr I
©) TFEE
(D) #HiSHTs
(B)  3raRd e
63. ToAteIiEd & ¥, B JAWTER! B, F e
FATBR Y ?
(A) IHIS
(B)  SUGUTH WAT
©) A=
(D) eT=StIH
(B) rIaRa ued
% DS22 11

60.

61.

63.

A boat covers a certain distance downstream in
1
1 hour, while it comes back in 15 hours. If the

speed of the stream is 7 km/h, then what is the
speed of the boat in still water in km/h ?

1
(a) 28
(B) 24
(C) 35
(D) 21

(E)

Under which of the following initiatives of the
Rajasthan Government and the Government of
India, were state-wide mock-drills organized, in
late May 2025 ?

(A) Operation Safeguard

(B)  Operation Shelter

(C©)  Operation Shield

(D)  Operation Rakshak

(E)  Question not attempted

Question not attempted

The Sitamata Wildlife Sanctuary is situated in
which of the following regions of Rajasthan ?

>

(A) Bikaner and Nagaur
(B)  Alwar and Bharatpur
(C)  Sikar and Jhunjhunu
(

(

)

)  Pratapgarh and Chittorgarh
E)  Question not attempted
Which one of the following Rajasthani singer,

made the Maand style of folk singing popular, at
the national and international level ?

>

(A) Gavari Devi
(B)  Moti Devi
(©) Harkabai
(
(

)

) Meethibai
E)  Question not attempted

Who among the following, was a famous artist, of
the Shekhawati Khyal ?

(A) Ugam Raj

(B) Jaydayal Soni

(©) Nanuram

(D) Lachhi Ram

(E)  Question not attempted

P.T.O.



64.

65.

66.

67.

68.

WRA F I-T1TH I ASA (HA) BT @A, | 64-
e A9 fpr A e Rea g 2
(A) SR
(B) S
© R
(D) HER
(B) 31 aRd e
2011 T VAT F AR, TS HI TAHSAT| 65.
T BT TATOT S AT H :
T ToT 7o fospedt # A qOH YT A BT AT
Ea
(A)  =eTE
(B) IAATEIET
© weTE
(D) et oY areh o HaT AE S qpal
(B) I aRa ueA
frrfetiad & & F19-91, U6 I TP AR & ? 66.
(A)  THRY
(B) s
© TEEHEH
(D)  HreR
(B) 3raRd wed
STrerqR @t fafeiad # 9 69 @i I et # (67
HiEATd WX 9 STed gU S9! arel [Siad He,
TEFJA AT E ?
(A) =g
(B) HsemIH
© fggg
(D) AT
(B)  3raRd e
WRA & HITETH B IR, TAH ARA T AN 7 | 68.
B % o5 oz e &1 qta= e, @ &
HTI 3 TTSC EATST 3T IS T BT T B
(A)  UTIHTT TIHR
(B)  wifeTe e
(C) i 3T R
(D) it ARIBR
(B) 3raRd e
12

The headquarters of the North-Western Railway
Zone of India, is located at which of the following
places ?

(A)  Jodhpur
(B) Jaipur
(©)  Ajmer
(D) Bikaner

(E)  Question not attempted

According to the 2011 Census, the Rajasthan's
population density in comparison to the previous
census has :

Choose the most appropriate answer from the
options provided below :

>

)  decreased

B) remained the same

)

(

(

(©) increased
(D) there is no way to tell
(

E)  Question not attempted

Which of the following is not a Web Browser ?

(A) Safari

(B)  Opera

(©) Google Chrome

(D) KompoZer

(E)  Question not attempted

In which of the following folk dance forms of
Jodhpur, do women carry perforated pots, on their
heads, with burning lamps inside ?

(A) Chang dance
(B)  Ghudla dance
(©) Gindar dance
(D)  Agni dance

(

E)  Question not attempted

According to the Constitution of India, it is the
of every citizen to abide by the

Constitution, to respect the National Flag and the

National Anthem of India.

(A) Fraternal Right

(B) Fundamental Duty

(©)  Judicial Right

(D) Fundamental Right

(E)  Question not attempted



69. TS WIHN F AANT Tpel 16T TTomT % #At | 69.
(S 2025 & TAR) HIAE ?
(A) g feaTER
(B) Tois fE
(C) SR YA
(D) FeRIStaTe
(B) 3T aRd e
70.  TH TeddTST o 2191 IR F 84 I IATC, [T 39T 70.
3T 2 T I AT | SHBT 21 TTRAT BT 3NATL
(A) 42T
(B) 46T
© 48T
D) 473
(B) 31 aRd e
71 frfaiad # 9 $9-91 0 fieE-aaa iega g 2 |71
(A) fefta=
(B)  aTgus
Q) A
(D)  THTEeS
(B) IaRa ued
72. WG 1949 ¥, ‘YEO¥ (USX) IERAT’ BT e, |72
frfafad o & f6e TA %, THIHEIT & a8 I
aqT?
T ToT 7T foshedt # o HOW IJUGT 3T BT AT
B
(A) I, NAYR, FIAT 3 AT
(B) SR, SR, SIHETHT 3R TehTR
() i, TR, THITE 3R LTEqT
(D) SEETST, HieT, &t SR STeATars
(B)  3raRd e
73.  SiWETST, TRUT 3T AU F TEEl &=t # sett | 73.
ST AT Sett &1 T BT ST R ?
(A)  =mTEt
(B) et
© zrESHt
(D)  Harar
(B)  3raRd e
% DS22 13

Who is the Minister of School Education
Department under the Government of Rajasthan
(as of June 2025) ?

(A) Madan Dilawar

(B) Gajendra Singh

(C©) Jogaram Patel

(D) Kirodi Lal

(E)  Question not attempted

A batsman makes 84 runs in his 215t innings and

thus increases his average by 2 runs. His average
of 21 innings is :

(A) 42runs
(B) 46 runs
(C©) 48 runs
(D) 44 runs

(E)  Question not attempted

Which of the following is a protein-digesting
enzyme ?

(A) Trypsin

(B) Lipase

(©) Maltase

(D) Amylase

(E)  Question not attempted

Greater Rajasthan was formed in March 1949, after
the integration of which of the following states ?

Choose the most appropriate answer from the
options provided below :

(A) Alwar, Dholpur, Karauli and Bharatpur

(B)  Jaipur, Jodhpur, Jaisalmer and Bikaner

(©) Tonk, Dungarpur, Kishangarh and
Shahpura

(D) Banswara, Kota, Bundi and Jhalawar

(E)  Question not attempted

The dialect spoken in the areas of Banswara,
Dungarpur and nearby hilly areas of Rajasthan is
called :

(A) Wagdi

(B)  Dhundhari

(©) Hadoti

(D) Mewati

(E)  Question not attempted

P.T.O.



74.

75.

76.

77.

% DS22

FrATEd § W HIA-HT B TS BT T T
FEATATE ?
(A) TfesT
(B) FN
©) wHAA
(D) IRTAT T
(E)  argand e
TR PR &F Ftertagd faamm § § Si-a1
framr Tow &7 Ay TRaiereTeT (T W
foreprar) % feru fereret 3 Sy 1 B AT e ?
(A) T TaamT, TR THR
(B) U HATCT [T, TSI TXHR
(C) T T [T, TSI TIHN
(D)  TRYTTcTeRT e, TSTAT TIHN
(B)  3raRd e
TEIOT ST F1 TG # T Bl Yehe AT, TEEIATE :
(A) g
(B)  I@Nadr
© @
(D)  3TyTar
(E)  3rfaRa ued
0 S wEl e A m S
T 9T SeT 9T X #2017 H 6 HEMT & [T I5H
3R ol ATEAT (BRI H) T TSTHHTT SATAT |
e ; T F TEe! TEAT ATghi Bl FerTdr ¥ 37 gEy
HET el ATE1 b1 &Ml 8|
TT 7T SRSl F YR W, TR 2017 FH JAT A
IV 2017 H TgH & JIATAT, ATEAT &b GSTIH0T H
A glsgEe?
(A) 8050
(B) 9500
(C) 9000
(D) 8000
(E)  3rfaRa ued
14

74.

75.

76.

77.

Which one of the following flowers is known as the
‘State Flower” of Rajasthan ?

(A) Rohida

(B)  Kaner

(C©) Lotus

(D) Desert Rose
(

E)  Question not attempted

Which of the following departments of the
government of Rajasthan performs monitoring and
coordination function for all the municipal bodies
(Urban Local Bodies) of the state ?

(A) Department of Home Affairs, Government
of Rajasthan

(B) Department of Chief Operations,
Government of Rajasthan

(C) Department of Local Self Government,
Government of Rajasthan

(D) Department of Municipalities, Government

of Rajasthan
Question not attempted

(E)
The trait that expresses itself in F1 generation is :
A)  Dominant

B) Mutant

C) Hybrid

D) Recessive

Question not attempted

Jan Feb Mar May
The given data shows the registration of bikes and
total vehicles (in thousands) for 6 months in 2017
in City X.

Note : In the chart, the first number represents bikes
and the second number represents total vehicles.
Based on the given data, the increase in the
registration of vehicles other than bikes in April
2017 in comparison to Jan. 2017 is :

Apr Jun

(A) 8050
(B) 9500
(©) 9000
(D) 8000
(E)  Question not attempted



78.  TRAT eARIIRT UX 8% AT 3T 3 qY & Ahgig ST
3T FTEROT ST 31T T 616 3 | T& AT AT
F|
(A) 24,000
(B) ¥31,250
(C) 62,500
(D) 22,500
(B) 3raRd wed
79. WRAM™ WU 9T SR, WRA HT dTqen, wa
ST T T 2
(A)  263FaLT 1950
(B)  26dEX 1947
(C)  267d=T1949
(D) 26 aRN 1947
(B) 31 aRd e
80. 9 AT (Union List) WRAH Hiqem &t fra
I T e R ?
(A) 7th
(B) oth
© 11th
(D) eth
(B) IrIaRa ueA
81. IS WS Tk H (AT # I, HI=-JT =07 37
HIArs?
(A) A
(B)  wfatsman
© Tt
(D) TrHu™
(B)  3raRd wed
82. W o I PT, HIA-TT TG &, TE, S0,
TR a7 577 WA & MR W 9eWTT & o J
ey ?
(A)  ITWI21A
(B) TR 15
©) ITT=sT40
(D) 3r=33
(B) 3raRd e
% DS22

78.

79.

81.

82.

15

The difference between compound interest and
simple interest on a certain sum of money for
3 years at 8% per annum is X 616. Find the sum.

(A) 24,000
(B) 31,250
(C) 62500
(D) 22,500
(E)  Question not attempted

The Constitution of India, was adopted by the
Constituent Assembly of India on :

(A) 26 January 1950

(B) 26 November 1947

(C©) 26 November 1949

(D) 26 January 1947

(E)  Question not attempted

The Union List is part of which schedule of the
Constitution of India ?

(A)  7th

(B) oth

© 11t

D) 6th

(E)  Question not attempted

In the disaster management cycle, which of the
following stage, will come as the last stage ?

A)  Recovery
B) Response

(
(
(C)  Preparedness
(D) Mitigation

(

E)  Question not attempted

Which Article of the Constitution of India, deals
with prohibition of discrimination on the grounds
of religion, race, caste, sex or place of birth ?

(A) Article 21A

(B)  Article 15

(C)  Article 40

(D)  Article 3

(E)  Question not attempted

P.T.O.



83.  TTRUTH H THYNRAT &l fhd T R RATE ?
T T5T 7T foeedt # o qEW YT ST BT AT
B
(A) IR
(B) diwR
©) =1
(D) SR
(B) 31 aRd e
84. % 2,50,000 UX 15 FEIT BT 12% TTIH X F THI(G
TS FIA B, ST TS SAETATIh HH T &l &2
(A) 39,300
(B) 46,802
(C) 39,327
(D) ¥ 38,400
(B) 31 aRd e
85. frfetfaa # ¥, fpa Tomem ¥ ‘s ufedt’
(FIA-FIHTE) T, U Farsrepet % g, siawrse
T I H1 2
(A)  ewe R
(B) TUTEE™
(C) U Rz s ETEa
(D) & HIIRY
(B) IraRa ueA
86. AT I TWATE 5 : 6 F FTTA H & 3T ITHT LCM 210
&, T 3BT HCF B8R ;
(A) 11
(B) 7
(C) 14
(D) 10
(B) 3raRd "=
87. T=TaRNEd ¥ ¥ [p9 WA 50 ¥ “30THTelT
T N Rod g ?
(A)  STErvSer
(B) ¥
© 3w
(D) FAREH
(B) rIaRa ued
% DS22

83.

86.

87.

16

In which place of Rajasthan do we find the
Rampuria Haveli ?

Choose the most appropriate answer from the
options provided below :

(A) Udaipur
(B)  Bikaner
(©) Jhunjhunu
(D)  Jodhpur

(E)  Question not attempted

Find the compound interest on ¥ 2,50,000 for
15 months at 12% per annum compounded half

yearly.

(A) 39,300
(B) 46,802
(C) 39,327
(D) 38,400
(E)  Question not attempted

Who among the following, from Rajasthan, earned
international acclaim for his portraiture on ‘Blue
Pottery’ ?

(A) Birbal Singh

(B) Dayaldas

(C) Kripal Singh Shekhawat
(D) Komal Kothari

(

o

Question not attempted

If two numbers are in the ratio 5 : 6 and their LCM
is 210, then their HCF is :

A 11

B 7

© 14

(D) 10

(E)  Question not attempted

In which of the following Indian state is the
“ Agasthyamala Biosphere Reserve” located ?

(A) Andhra Pradesh

(B) Kerala

(©) Assam

(D) Karnataka

(E)  Question not attempted



88. IERATE SSIE 2025-26 F IHR, AIFHT & o7 [88.
Il g, TSRAT & [hd TR | Wa fham
STQTT 2
(A) WA
(B) iR
© =R
(D)  wiaTET
(B)  3raRd e

89. To=ATeIRgd ¥ ¥ B |T I, WA & F{Tem Hi [89.
TRATEAT # TE AT SATATE ?

(A) S

(B)  T@c=ar

© @

(D) TRy

(B) 31 aRd e

90. =t gw feifa sraaTel & w= arett fagt wt et | 90.

ST :
(A)  eewrge fret
(B) Sietig tHet
(©) e tHEt
(D)  reit fgt
(B)  3raRd wed
91. 9 uery St Hie fofedE U9 & o HL 29 g, |91
T & B B
T UG I I |
(A)  SATIRR
(B) 3T
(C) 3™
D) &
(B) IraRa ueA

92.  WRT A I IXIY A T 680 3T T 820 H WIS | 30+ | 92.
TEeTt I 5% BT & T 3T A a6 15% o9 &
Y Y| H AN e | IHBI ATH FIaT &0
STl ST Y | (ST o 2 LT TH Tal)

(A) ¥,5.93%
(B) W, 5.86%
(©) =, 5.12%
(D) ¥, 10.25%
(B)  Irgand e
% DS22 17

As per the Rajasthan budget 2025-26, the Centre of
Excellence for Maize, will be established in which
town of Rajasthan ?

(A) Bharatpur
(B) Bikaner
(C) Barmer
(D) Banswara

(E)  Question not attempted

Which of the following words is not found in the
Preamble of the Constitution of India ?

(A)  Fraternity

(B) Liberty

(C) Federation

(D) Republic

(E)  Question not attempted

The soil type formed due to sediment deposition
by rivers is known as :

>

(A) Laterite soil
(B)  Alluvial soil
(C©) Red soil
(
(

)

) Black soil
E)  Question not attempted
Substances that turn blue litmus paper to red are

in nature.
Choose the most appropriate answer.

(A) hydrophobic

(B)  neutral

(©) acidic

(D) Dbasic

(E)  Question not attempted

Saurav bought two items for ¥ 680 and ¥ 820
respectively. He sold the first item with 5% loss
and the second item with 15% profit. Find his
profit or loss percentage in the whole transaction.
(correct to 2 decimal places)

(A) profit, 5.93%

(B)  profit, 5.86%

(C) loss, 5.12%

(D)  profit, 10.25%

(E)  Question not attempted

P.T.O.



93. IERUT & fohT &Y HI, “HicHl &1 A& W FHaT
ST ?
(A) TR
(B) T
(©) SHerEx
(D) SR
(B)  3raRd e
94. A, B3I C A FHAA T 36,000, T 40,000 3R T 48,000
T T F¥h WIPIETRT 9 &t | a9 % 31 H T 62,000
FHAATHH, A 3T C FATHIN H o7 3T E 2
(A) T 5,000
(B) % 6,000
(C) 6,280
(D) ¥ 4,000
(B) 31 aRd e
95. 128 HT GII-3MM34T, 80 b TR-GT=d F TohaqT wiaerd
rF S ?
(A)  25%
(B) 30%
(C) 35%
(D)  20%
(B)  3raRd e
96. TTETRE | § 6T §d B, TSTEATT BT B Fal
STaTE ?
(A) e
(B)  STHATYSI
© =TI
(D) &= T
(B)  Irganad e
97. TAATTREd H § TFE &eade! % g5 W 3THa B
AT BT A [HIATAT ?
(A)  TSITHE HE
(B)  TroT 37 T
(C) wmIen e
(D) IS A
(B) rIaRa ued
% DS22

93.

94.

96.

97.

18

Which city of Rajasthan, is also known as the “City
of Bells’ ?

(A)
(B)  Jhunjhunu

Jhalrapatan

(C) Jaisalmer

(D) Jalore

(E)  Question not attempted

A, B and C entered into a partnership by investing
% 36,000, ¥ 40,000 and X 48,000 respectively. At the
end of the year, what is the difference between the
shares of A and C out of the total profit of ¥ 62,000?

(A) 5,000
(B) 6,000
(C©) 6,280
(D) 4,000
(E)  Question not attempted

By what percent is five-eighth of 128, is more than
four-fifth of 80 ?

(A)  25%
(B) 30%
C) 35%
(D) 20%
(E)  Question not attempted

Which one of the following saints, is known as the
‘Kabir of Rajasthan’ ?

(A) Laldas

(B)  Jasnathji

(©) Dadu Dayal
(D) Dhanna Bhagat
(

E)  Question not attempted

Who among the following led Akbar’s forces in the
Battle of Haldighati ?

(A) Raja Man Singh

(B) Raja Amar Singh
(©) Rana Udai Singh
(
(

o

)  Raja Todar Mal

E)  Question not attempted



98.  fepyrTe Tersrepett St @Y 39 g Feerepher (dfm)
FT A Jaq1eY, 5 TR fefra grr ‘“ara
HATTAT HETTATE ?

(A) IS IETHTAT

(B) QleIT-HTS

(C)  FUHI-STS TETGT
(D)  =oi-goiy

(B) 3raRd wed

99.  feieR 2024 H, Forg AT el FHT (WA #) fopw

SR AT ?

(A)  faeet

(B) ISR

© w3

(D) AT

(B) 31 aRd e

100. A T B fHerse fopet &1 Y 20 a7 & #T w6 &,
ST B AT C oot 30 24 o # %2 wabdl Bl Al
A, B TUT C THeTe 36t &1 &1 16 fa # e 956 8,
qr A TUT C Tt 3T B8 B feba fea A BTl ?
(A) 30
(B) 32
C) 34
(D) 28
(B)  3raRd e

101, TR H, STol AQTY HIGT0T 3 fTT, 379 vt &
HROT, FATARId # ¥ 69 ‘TAqew” F §9 H AT
STATE ?

(A) T fag
(B) T ToE
(© wam g
(D) ST
(B) I IaRa ued

102. IERAT F FASG TSI | Jafed i -,
TSTas T S TR & gotrae & fo7q e & et &1
FISATAATE, I B & -

(A)  wES
(B)
Q) Hi=AT
(D)  rteAT
(B)  3raRd e
% DS22 19

100.

101.

102.

Name the iconic painting of the Kishangarh
School, acclaimed as the ‘Monalisa of India” by Eric
Dickinson.

(A) Bundi Ragamala

(B) Dhola Maru

(©) Roopmati-Baz Bahadur
(D)  Bani-Thani

(E)  Question not attempted

In December 2024, which team won the Syed
Mushtaq Ali Trophy (in India) ?

(A) Delhi

(B) Gujarat

(©) Mumbai

(D) Tamil Nadu

(E)  Question not attempted

A and B together can do a work in 20 days,
whereas B and C together can do it in 24 days. If
A, B and C working together can do the same work
in 16 days, then in how many days will A and C
together do the same work ?

(A) 30
(B) 32
(C) 34
(D) 28
(

E)  Question not attempted

Who among the following, is known as the
‘Waterman’ for his efforts, in water resource
conservation in Rajasthan ?

(A) Gopal Singh

(B) Rajendra Singh

(C©) Pratap Singh

(D)  Arjun Lal

(E)  Question not attempted

The folk art-form prevalent among tribal

communities in Rajasthan, wherein a needle-like
tool is used to insert black pigment into the skin for
adornment, is called :

(A) Kavad

(B)  Veel

(©) Mandana

(D) Godana

(E)  Question not attempted

P.T.O.
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Which monument of Rajasthan is known as the
‘Hawa Mabhal of Jhunjhunu’ ?

(A) Lalgarh Palace

(B)  Chittar Palace

(C©) Rang Mahal

(D)  Khetri Mahal

(E)  Question not attempted

Which of the following regions of Rajasthan has
the lowest forest cover (area-wise) ?

Choose the most appropriate answer from the
options provided below :

(A) Churu

(B)  Jaisalmer

(©)  Ajmer

(D)  Bhilwara

(E)  Question not attempted

The Luni River ultimately drains into which of the
following ?

(A) Indian Ocean

(B) Chambal River

(©) Rann of Kutch

(D) Bay of Bengal

(E)  Question not attempted

The monthly salaries of Ram, Ajay and Aslam are
1 1

06
increased by 10%, 10% and 20% respectively, then
their salaries will be in the ratio :

in the ratio If their salaries are

(A) 15:10:48
(B) 22:33:60
(C©) 22:30:55
(D) 23:33:60
(E)  Question not attempted

A cistern is normally filled in 9 hours but takes
6 hours more to fill because of a leak in its bottom.
If the cistern is full, the leak will empty it in how
many hours ?

(A) 23
1
B 22—
® 2
1
C) 24—
© 24
(D) 20
(E)  Question not attempted
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108.

109.

110.

111.

112.

If 20% of (A +B) =50% of (A—B), then A : Bis :
(A) 3:2
(B) 5:2
(C) 8:3
(D) 7:3

(E)

For the development of border areas, which of the
following programs, is said to be launched by the
Rajasthan Government, as per the State Budget
2025-26 ?

Question not attempted

(A) Mukhyamantri Seema-Varti Kshetra Vikas
Pariyojana

(B) Mukhyamantri Thar Seema Kshetra Vikas
Karyakram

(C©) Mukhyamantri Jaisalmer Utthan Karyakram

(D) Mukhyamantri Jaisalmer Vikas Yojana

(E)  Question not attempted

What is debugging ?

Choose the most appropriate answer from the
options provided below :

(A) The process of finding and fixing errors in
software

(B)  The process of deploying software

(C)  The process of installing software

(D)  The process of writing code

(E)  Question not attempted

As per the Census of India 2011, from the given
options which of the following districts, recorded
the highest literacy rate in Rajasthan ?

(A) Jhunjhunu

(B)  Sikar

(C) Baran

(D)  Sri Ganganagar
(

E)  Question not attempted

The “Sidhmukh Major Irrigation Project” primarily
benefits the following districts of Rajasthan :

>

) Jodhpur and Pali

(

(B) Kota and Jhalawar

(©) Tonk and Bundi

(D) Hanumangarh and Churu
(E)  Question not attempted

P.T.O.
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114.

115.

116.

117.

In April 2025, who has been appointed as the
Deputy Governor of the Reserve Bank of India and
is also the first woman to hold this position ?

(A) Poonam Gupta

(B) Santosh Agarwal

(C) Jyoti Sharma

(D)  Anju Rathi Rana

(E)  Question not attempted

The highest judicial court, at the district level, in
Rajasthan is :

(A) High court

(B)  District and Sessions court

(C©)  Court of the Judicial Magistrate
(D) Family court

(

o

Question not attempted

Which of the following was not a style of turban in
Rajasthan, during the medieval times and beyond ?

(A) Khanjar Shahi
(B)  Shivshahi

(©) Pomcha

(D) Amarshahi

(

(3!

) Question not attempted

Who among the following, composed the famous
Rajasthani poetry collection “Pagfero” ?

(A) Meghraj Mukul

(B)  Satyaprakash Joshi

(C©) Gordhan Singh Shekhawat
(D) Mani Madhukar

(

E)  Question not attempted

Which of the following shortcut key, is used for
creating a duplicate slide, in MS PowerPoint ?

(A) Ctrl + Shift + N

(B) Ctl+Alt+D

(© Cul+Alt+N

(D)  Ctrl + Shift+D

(E)  Question not attempted
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118. Which of the following districts of Rajasthan,

recorded the lowest sex ratio, (number of females
per 1000 males) in the Census of India 2011 ?

(A) Jalore

(B) Pratapgarh

(©) Dholpur

(D) Dungarpur

(E)  Question not attempted

. Which hardware device is used for connecting a

computer to audio output devices like speakers ?

>

(A) Sound Card
(B)  Graphics Card
(©) ssb
(
(

S

NIC
E)  Question not attempted

. Who was the first woman Minister in Rajasthan ?

(A) Vasundhara Raje
B)  Yashoda Devi

(

(©) Diya Kumari
(D) Kamla Beniwal
(

E)  Question not attempted

P.T.O.
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